Al A

=3 o
0238 20laF Letel S g IS
SA ST OIS
. THESA 243t
Selr ANFSAH Z0 245 T3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S8 6EIEL 38,484,521 34,026,176 4,458,345
= 14,001,546
Jl 5,271,774
= 8,131,617
Al 11,079,584
AESAH 243t 37,160 37,160 0
AESAH E0f 243 X3 37,160 37,160 0
NSAES K2 36,660 36,660 0
201 2egh=3| 3,000 3,000 0
01 At2t2ltl 3,000 3,000 0
OXSAHE S XIE 3,000
206 MH=Hl 5,000 5,000 0
01 MZH| 5,000 5,000 0
OXNESAHE S NE =23 5,000
301 EetE2 N = 28,660 28,660
14 0Bt 2a3 28,660 28,660
OXESA 2524 3,600
OZ=2Y 024 dL3A ZOA+ &S24 1,760
OARISXIAIE SAHES S0A 2524 9,600
OROPI= ELZM =USSRA H0iX
252y 7,680
ONESAAAIES BAX 24 1,220
Oa1tE d2NESAHL 2524 2,400
OAEIAMY NASAHA 2S24 1,200
Ottsel NHESAHL 252 1,200
HIINST 28 500 500
201 get=3y| 500 500
02 S3=gHl 500 500
OXIINSKt 23l 500
e - Ots=X S8 36,138,898 31,615,306 4,523,592
= 13,635,772
Jl 5,271,774
= 7,656,503
Al 9,574,849
JIEZHAE 6,932,851 5,835,959 1,096,892
Il 5,032,374
= 817,517
Al 1,082,960
NS R0t deid A 628,231 655,000 N26,769
= 188,469
Al 439,762
301 EtE NS 628,231 655,000 N26,769
== 188,469
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X XH -
o=

S8 HdotED
od - Ots=A &8

celr I3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 439,762
01 Al EE A S (2 RDEEMA) 628,231 655,000 AN26,769
ONAS etRZ2IHY daiE K& 628,231
s 188,469
Al 439,762
FAERE INEXE 53,444 60,437 26,993
Jl 42,754
=S 5,345
Al 5,345
301 EtE NS 53,444 60,437 6,993
Jl 42,754
= 5,345
Al 5,345
01 Al EE A S (2 RNEXMA) 53,444 60,437 26,993
OFAHEIRZ IHEXIE 53,444
Il 42,754
= 5,345
Al 5,345
SHREIIEIS &SHl S X2 6,237,026 5,106,372 1,130,654
Il 4,989,620
= 623,703
Al 623,703
301 EtE N = 6,237,026 5,106,372 1,130,654
) 4,989,620
< 623,703
Al 623,703
01 A2 HSFS(RDNEERTHE) 6,237,026 5,106,372 1,130,654
OFRIIENE S|4l S A& 6,237,026
Jl 4,989,620
< 623,703
Al 623,703
e dngs X2 14,150 14,150 0
301 EtE NS 14,150 14,150
11 dALEEIXIE S 14,150 14,150
O0d Ms=EEUS 14,150
orsEs X2 29,206,047 25,779,347 3,426,700
= 13,635,772
Il 239,400
== 6,838,986
Al 8,491,889
EUANE Al X&E 13,348,600 10,790,270 2,558,330
= 8,009, 160
S 2,669,720
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X XH -
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S8 HdotED
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,609,720
301 EtE NS 13,348,600 10,790,270 2,558,330
= 8,009,160
= 2,669,720
Al 2,669,720
01 Al EE AT Z(2DEXR) 13,348,600 10,790,270 2,558,330
OFsuAA IAH| X&H 13,348,600
= 8,009, 160
& 2,609,720
Al 2,669,720
S HRHME X (RAIZREZIHAH) 3,409,692 3,470,500 60,808
= 2,045,816
< 681,938
Al 681,938
301 EtE NS 3,409,692 3,470,500 260,808
= 2,045,816
== 681,938
Al 681,938
01 AR 2EHSHS(RDNEXRTH) 3,409,692 3,470,500 260,808
U MRMHA KN (DAI2SEZH
&Hl) 3,400,692
= 2,045,816
== 681,938
Al 681,938
SN HRME XNJ(EZHEDAL XIH) 5,356,532 5,138,350 218,182
= 3,213,920
== 1,071,306
Al 1,071,306
301 22N = 5,356,532 5,138,350 218,182
= 3,213,920
= 1,071,306
Al 1,071,306
01 Al EE A S (FRNEXA) 5,356,532 5,138,350 218,182
OESnA HRMH X (EXSHF WAL
&) 5,356,532
= 3,213,920
= 1,071,306
Al 1,071,306
SN MRMHL KN (RAIZE 2F X)) 123,926 123,926 0
= 74,360
= 24,783
Al 24,783
301 EtE2 NS 123,926 123,926 0
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X XH -
o=

S8 HdotED
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 74,360
=S 24,783
Al 24,783
01 Al E2E AL S(FRDEXH) 123,926 123,926 0
SN MM N(RAHEE |E
X&) 123,926
= 74,360
S 24,783
Al 24,783
KA MM N (SELEFWA SE22+E 133,000 140,250 NT,250
= 79,800
S 26,600
Al 26,600
301 EtE NS 133,000 140,250 AT,250
= 79,800
= 26,600
Al 26,600
01 Al EE A S (2 DEXR) 133,000 140,250 AT,250
OESNAE MRME X (SEEFWA
Sg2!2=+4) 133,000
= 79,800
= 26,600
Al 26,600
o201 X1 (M =Hl) 129,356 121,030 8,326
= 77,612
= 25,872
Al 25,872
307 elztol & 129,356 121,030 8,326
= 77,612
S 25,872
Al 25,872
11 AMEISXAEEE 129,35 121,030 8,326
Oo0glold K& (miHm+hl) 129,35
= 77,612
< 25,872
Al 25,872
Ofelold X (xte2gl) 74,529 76,800 N2,271
= 44,717
== 14,906
Al 14,906
307 212+01& 74,529 76,800 A2,271
= 44,717
=S 14,906
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S8 HdotED
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 14,906

11 AMEISXAEEXS 74,529 76,800 A2,271
OO0igloly XI&(Xret2hl) 74,529
= 44,717
= 14,906
Al 14,906

Olglold X (soiEgeloiziold X&) 10,417 11,000 1583
= 6,247
= 2,085
Al 2,085

307 elztol & 10,417 11,000 583
= 6,247
< 2,085
Al 2,085

11 AMEISXAEEES 10,417 11,000 A583
Ooelold X (soEgaoialold) 10,417
= 6,247
S 2,085
Al 2,085

O2lold nALLIA 18,580 29,835 A11,255
= 11,140
== 3,720
Al 3,720

301 22N = 18,580 29,835 A11,255
= 11,140
=S 3,720
Al 3,720

01 Al EE AL S(FREXMH) 18,580 29,835 A11,255
0020l AL 18,580
= 11,140
= 3,720
Al 3,720

B30I K2 (HEA) 576,000 552,000 24,000
== 460,800
Al 115,200

307 212+01& 576,000 562,000 24,000
< 460,800
Al 115,200

11 AMEISXAEEES 576,000 552,000 24,000
ossgoeod N3 576,000
= 460,800
Al 115,200

olglolE JIsed 62,000 0 62,000
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orsE= X&

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 31,000
=S 9,300
Al 21,700

402 2I2FXH=201& 62,000 0 62,000
= 31,000
= 9,300
Al 21,700

02 QI XHZ AL E R (01X THE) 62,000 0 62,000
O0elold JIs=22d 62,000
= 31,000
= 9,300
Al 21,700

SFWA MRH&d] 2,013,386 1,928,900 84,486
=S 604,016
Al 1,409,370

301 EetE2 NS 2,013,386 1,928,900 84,486
== 604,016
Al 1,409,370

01 AR 2EHSHS(RDNEXRTH) 2,013,386 1,928,900 84,486
OEF WAL MIHAHI 2,013,386
& 604,016
Al 1,409,370

FHefXS oelold =23l 11,256 15,600 A4,344
= 3,377
Al 7,879

307 gl2to| & 11,256 16,600 N4,344
=S 3,377
Al 7,879

11 ARRIS XA E X 11,256 15,600 A4,344
OF XS Oel0lE 23] 11,256
[ 3,377
Al 7,879

2ESAE d - gl XA 239,162 296,175 A57,013
= 47,832
Al 191,330

307 el2tol & 239,162 296,175 Ab7,013
= 47,832
Al 191,330

1 AMISXAIEEXE 239,162 296,175 A57,013
OEFAE ¢ - tedl X2 239,162
== 47,832
Al 191,330

ZOH0F M20{2l018 2A3 212H] XI& 24,132 17,148 6,984
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S8 HdotED

M o4 - ots=EX B
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,239
Al 16,893
301 EtE NS 24,132 17,148 6,984
= 7,239
Al 16,893
01 Al EE AT Z(2DEXR) 24,132 17,148 6,984
OFOHOF M20iel0ld 283 el2H] K& 24,132
= 7,239
Al 16,893
28440 E OHERIE0lS NI 155,160 97,280 57,880
< 46,550
Al 108,610
301 2P EN= 185,160 97,280 57,880
& 46,550
Al 108,610
01 AR 2 HSFS(RRNEERTHE) 185,160 97,280 57,880
OAxdEAEIIE & JHEE0tS A 185,160
= 46,550
Al 108,610
AEAEINE H JIERIE0IS 2t 50s 326,094 266,004 60,090
s 32,609
Al 293,485
301 EtE NS 326,094 266,004 60,090
< 32,609
Al 293,485
01 AR 2EHSFS(RNEXRTHE) 326,094 266,004 60,090
OJtgAE 25| 326,094
= 32,609
Al 293,485
HEO0ISE = 60,000 0 60,000
= 42,000
= 6,000
Al 12,000
301 LEtE NS 60,000 0 60,000
= 42,000
[ 6,000
Al 12,000
01 AR 2EHSFS(RNEXRTHE) 60,000 0 60,000
OdE0tSESHI 60,000
= 42,000
== 6,000
Al 12,000
NasSE M4 S 23ggs N 10,000 10,000 0




of
i’
oF
uJ

oo . ~ = S 5 5 S88 S S S 8
N N N o o ) s|s|s  |= 5 3 ©
- N~ N~ [ [ep 1 Nap N Nep} — — —
o K K K 21212 |4 g g g
E
F=)
218 8 2 8 8 g 8 21818 8 S S 8
s|s |8 S S . . S s|sle  |=» 5 B %
Euﬁmm S S S S S S il i = = g
U_ul_mu.N.._ — — —
RIS
EEEEEE EEEE EEEEEE EEE EEE R EE EEEE EEE EEEEEEEE
S|ls S|lo F = B|o F-DBld K BB = ~|od Mo drKlgo drKKK Ko dd|leddod|ls s ao|a
SIFCIBEBRIEEBRIES LB BT CTRIRERIERESR 8
al - - -
<
S
mUH = AU = ~= Wl W=l u= W = H=| W= W =
or
0
Y, o o
. = [
3D ) B ] G
< il = = o ™
X = oy a G = W =
3 < iy N = 0 = R0
. o} B o _ T LA
— o0 oo o 7 S | = S
= o TS~ S = o | @ 45
= Lo T m |z ) Mmooy " o8 =
o P o a oo o ar e = 20 el
S EAER i R © o | o R0 Rl SRl 2 ] W S 4
= || Ui H H Ko Kto o iy H © e His = = o
L A 5 @ oo ~ 5 o oS | B L
K ol | /0 K| zr oll =< 0 ior Pl oll < & zlal|la Wiz al o) MO Pl
: || ©|m 5 5 © ° s 5 5 © Algly @ S 8 © =
X | o & | & or | & 0 Si 0
Ik S ) H [0 )




2A:

X XH -
o=

S8 HdotED
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 170,777
Al 398,481
307 lztol & 569,258 609,8% /40,638
= 170,777
Al 398,481
11 AMEISXAIEEXS 569,258 609,8% A\40,638
OO0y S2All X3 569,258
= 170,777
Al 398,481
01201 OAIBt 24l X1 410,520 220,500 190,020
< 123,156
Al 287,364
301 2P EN= 410,520 220,500 190,020
S 123,156
Al 287,364
01 AR 2 HSFS(RRNEERTHE) 410,520 220,500 190,020
OO el0lE OMIEr 2| X2 410,520
= 123,156
Al 287,364
o=k 58 2,204,343 2,265,028 A60,685
= 365,774
=S 475,114
Al 1,363,455
sdsory X2 2,204,343 2,265,028 60,685
= 365,774
= 475,114
Al 1,363,455
Ol ALY 2,749 3,000 251
=S 412
Al 2,337
301 LEtE NS 2,749 3,000 A251
< 412
Al 2,337
01 AR 2EHSHS(RNEXRTH) 2,749 3,000 A251
Ol A ACHH| 2,749
= 412
Al 2,337
COIHIIAIE RAI2= 22,000 22,000
307 el2to| & 7,000 7,000
10 Al SAAEEHE 22X 7,000 7,000
OZ=¢Y MES= 3,000
O0Zd=2E IIAHEEZ 4,000
401 AIEHIZ R 0HYI 15,000 15,000 0
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&l HgIt=En
Hm: Lol=x =X
ol :deory X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 15,000 15,000 0
ONOIESTE % LMIIAE RRIE= 15,000
Lol B8R X 4,000 4,000 0
= 1,200
Al 2,800
301 EtE NS 4,000 4,000 0
== 1,200
Al 2,800
01 Al 2E AL S(FREXM) 4,000 4,000 0
ool 2HEXI| X& 4,000
[ 1,200
Al 2,800
d=2g 28N 1,135,150 1,135,180 0
= 129,024
Al 1,006,126
307 el2to| & 1,135,150 1,135,150 0
= 129,024
Al 1,006,126
1 AMISXAIEEXS 1,135,150 1,135,180 0
o=l 567,600
== 48,384
Al 519,216
O2tAMH| 82,350
= 15,456
Al 66,894
OdtHsl 320,200
= 65,184
Al 255,016
OFAMH| 165,000
0S= 3= 28X 21,966 21,966 0
= 4,393
Al 17,573
307 elztol & 21,966 21,966 0
= 4,393
Al 17,573
11 AMEISXAIEEXS 21,966 21,966 0
o=gHl 7,560
=S 1,512
Al 6,048
O2tAMH| 4,200
== 840
Al 3,360
Odtrt] 10,206
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